Giai phuong trinh khéi

Tén: Ngay thang: Piém:
50 =19 —78x+72=0 C+ 14 +5Tx+72=0

8¢ — 15x% — 153x + 140 = 0 X = 16x* +79x— 120 = 0

=0 —21x+245=0 5% — 56x% + 165x— 126 = 0

6x° + 1122 — 261x+ 280 = 0 X+ 4 +3x=0

8>+ 49%7 —x— 42 =0 L -T2x=0

www.snowmath.com


https://www.snowmath.com

Giai phuong trinh khoi

Tén:

57 — 192 —78x+ 72 =10

x:

B~

, 73,6

8> — 15x% — 153x + 140 = 0
7
83

x:

5,—4

X — 9 —21x+ 245 =0
x=7,7,-5

6> + 112 —261x+ 280 =0

x:

, 78,5

AN

8 + 49" —x—42=0
7

x=—-,-6,—1
8

Ngay thang: Diém:

X+ 142 +5Tx+T72=0
x=-3,-3,-8

X —16x>+79x—120=0
x=3.8,5

5¢° — 56x% + 165x— 126 = 0
6
57

x:

3,7

C+4¢+3x=0
x=-1,-3,0

CH+X—Tx=0
x=28,-9,0
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